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Please note that it is the candidate’s responsibility to encode and fill in the Roll Number
and Test Booklet Series A, B, C or D carefully and without any omission or discrepancy at
the appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render
the Answer Sheet liable for rejection.

You have to enter your Roll Number on the Test Booklet in
the Box provided alongside. DO NOT write anything else on
the Test Booklet.

This Test Booklet contains 120 items (questions). Each item is printed both in Hindi and
English. Each item comprises four responses (answers). You will select the response which you
want to mark on the Answer Sheet. In case you feel that there is more than one correct response,
mark the response, which you consider the best. In any case, choose ONLY ONE response for
each item.

You have to mark all your responses ONLY on the separate Answer Sheet provided.
See directions in the Answer Sheet.

All items carry equal marks.

Before you proceed to mark in the Answer Sheet the response to various items in the Test
Booklet, you have to fill in some particulars in the Answer Sheet as per instructions sent to you
with your Admission Certificate. _

After you have completed filling in all your responses on the Answer Sheet and the examination
has concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted
to take away with you the Test Booklet.

. Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong answers :
THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS.

(i) There are four alternatives for the answer to every question. For each question for which a
wrong answer has been given by the candidate, one-third of the marks assigned to that
question will be deducted as penalty.

(ii) If a candidate gives more than one answer, it will be treated as a wrong answer even if one of
the given answers happens to be correct and there will be same penalty as above to that
question.

(iii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty
for that question.
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Which one of the following gases is
released mostly from landfills in urban
areas?

(a) Nitrogen
(b) Hydrogen
(c) Methane
(d) Oxygen

Which one of the following is most
sensitive to environmental change?

(a) Amphibian
(b) Reptile

(c) Mammal
(d) Insect

Which one of the following is the largest
source of electricity in India?

(a) Hydropower plants
(b) Nuclear power plants
(¢) Thermal power plants

(d) Wind energy

The HIV virus weakens the immunity of a
person because it destroys

(a) mast cells
(b) platelets

(c) erythrocytes
(d) lymphocytes

Which one of the following air pollutants
combines with the haemoglobin of
human blood and reduces its oxygen-
carrying capacity, leading to suffocation
and may cause even death?

(@) Chlorofluorocarbon
(b) Fly ash

(c) Carbon monoxide
(d) Sulphur dioxide
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6. An irregular mode of reproduction

resulting in the development of an
embryo without fertilization is called

1. Parthenogenesis
2. Apogamy
3. Sporophytic budding

Select the correct answer using the code
given below.

(@) 1 only

(b) 2 only

fc) 2 and 3 only
({d 1,2 and 3

7. Which one of the following is not an

allotrope of carbon?
(a) Coal

(b) Diamond

(c) Graphite

(d) Graphene

8. In paper manufacturing, degumming of

the raw material is done using
(a) sulphuric acid

(b) bleaching powder

(c) caustic soda

(d) nitric acid

9. Dolomite powder is applied in some

agricultural lands. The purpose of
applying it is to

(a) increase the pH of the soil
(b) lower the pH of the soil

(c) increase the phosphorus content
of the soil

(d) increase the nitrogen content
of the soil
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10. Deficiency of fluoride leads to which one

of the following health problems?
{a) Tooth caries

{b) Mottling of tooth

{c) Bending of bones

(d) Stiffening of joints

11. Excessive use of which of the following

fertilizers may be responsible for the
presence of a toxic substance in
groundwater?

(a) Nitrogen
(b) Phosphate only
(c) Potassium only

(d) Phosphate and potassium

12. Which one of the following elements

does not form solid hydrogen
carbonate?

(a) Sodium
{b) Potassium
{c) Caesium

{d) Lithium

- 13. According to Census 2011, which one of

the following is the correct sequence of
States in decreasing order of their total
size of population?

{a) Kerala, Jharkhand, Assam, Punjab
(b) Jharkhand, Kerala, Assam, Punjab
(c) Kerala, Jharkhand, Punjab, Assam

(d) Jharkhand, Kerala, Punjab, Assam
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14. With reference to earthquakes, which of

the following statements are correct?

1. Earthquakes largely occur along
the converging plate boundaries.

2. Point of origin of earthquake in
lithosphere is known as focus/
hypocentre.

3. Intensity of earthquake decreases
with distance from the epicentre.

4. Epicentre of earthquake always
remains over continents only.

Select the correct answer using the code
given below.

(a) 1 and 2 only
(b} 1,2 and 3
(c) 2 and 3 only
(d) 1 and 4

15. Which of the following pairs of Indian

State and tribal population are correct?
1. Madhya Pradesh : Largest tribal

population
2. Mizoram : Highest percentage of

tribal population out of the total
population of the State

3. Chhattisgarh : Second Ilargest
tribal population after Madhya
Pradesh

4. Arunachal Pradesh : Second highest
percentage of tribal population
out of the total population of the
State after Mizoram

Select the correct answer using the code
given below.

(@ 1 and 2 only
(b) 2 and 4 only
(¢ 1,2 and 3
(d) 2,3 and 4
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16. The spring constant of a spring depends 20. Which one of the following physical
quantities has the same dimensions as
that of Planck’s constant h?

on its

(@) length only

(b) material only

(c) length and its diameter

(d) thickness, its diameter and its
material

17. In the gamma decay of a nucleus

fa) the mass number of the nucleus
changes whereas its atomic

(@)
(b)
(c)
(d)

Linear momentum
Angular momentum
Force

Potential energy

number does not change 21. Which one of the following statements is
not correct?

(b) the mass number of the nucleus
does not change whereas its atomic
number changes

(c) both the mass number and the
atomic number of the nucleus
change

(d) neither the mass number nor the
atomic number of the nucleus
changes

18. In a bipolar junction transistor

(a) all the three regions (the emitter,
the base and the collector) have
equal concentrations of impurity

(b) the emitter has the least concen-
tration of impurity

(c) the collector has the least concen-
tration of impurity

(@)

(b)

{c)

(@)

The response of the ear to
sound of increasing intensity is
approximately logarithmic.

The sensitivity of the human ear
does not vary with the frequency of
the sound.

When two or more waves
traverse the same medium, the
displacement of any element of the
medium is the algebraic sum of
the displacements due to each
wave.

Longitudinal waves can travel in all
media—solids, liquids and gases.

(d) the base has the least concen- 22. Which one of the following hormones is
essential for the uptake of glucose by
cells in the human body?

tration of impurity

19. The pressure exerted by a 760 mm
column of mercury at 0 °C is known as

(a) 1 pascal

(b) 1 atmosphere
{c) 1 bar

(d) 1 poise

e SNCSONDLIE e

(@)
(b)
c)
(d)

GH

TSH

Insulin

Cortisol
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23. Which of the following cells do not
contain nucleus?

14
25
3.
4.

Root hair cells
Red blood cells
Platelets

Monocytes

Select the correct answer using the code
given below,

(a) 1 only
(b) 2 and 3 only
(c) 1,2 and 4
(d) 2,3 and 4
24. Biological catalysts are protein molecules
which
1. speed up a chemical reaction

2.
3.
4,

remain unchanged after reaction
function optimally at 37 °C

do not have an enzymatic activity

Select the correct answer using the code
given below.

(@)
(b)
()
()

1 only

1, 2 and 3

2 and 3 only
1, 3 and 4

25. ‘Altitude sickness’ is caused at high
altitude due to

(@)
(b)
(c)
()

high partial pressure of oxygen
low partial pressure of oxygen
low level of haemoglobin

high partial pressure of carbon
dioxide
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26. Match List-I with List-II and select the
correct answer using the code given
below the Lists :

List-1 List-IT

(Element) (Property/Use)

A. Mg 1. Gives red colour to flame

B. Ca 2. Sulphate compound used

in medicine to examine the
alimentary canal of a
patient

C. ‘Sr 3. Traps the energy of sunlight

in photosynthesis

D. Ba 4. Control of muscle

contraction
Code :
(@) A B &) D
2 4 1 3
(b) A B C D
2 1 4 3
(c) A B C D
3 4 ik 2
(d A B C D
3 1 4 2

27. Which one of the following statements is
correct?

(@)

(b)

The oxidation number for hydrogen
is always zero.

The oxidation number for hydrogen
is always +1.

The oxidation number for hydrogen
is always -1

Hydrogen can have more than one
oxidation number.
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28. In case of a standard hydrogen electrode

(@)

(b)
(c)

(d)

absolute electrode

not zero

potential is

absolute electrode potential is zero

both absolute and standard
electrode potential values are zero

electrode potential is zero only at
25 °C

29. The elemental composition of an adult
human body by mass is

(a)
(b)
(c)
(d)

C>0>H>N
O>C>H>N
N>C>H>0
N>C>0>H

30. With regard to water transportation in
India, which of the following statements
are correct?

I

Headquarters of Central Inland
Water Transport Corporation is
located at Delhi.

Headquarters of Inland Waterways
Authority of India is located at
Noida.

National Inland Navigation
Institute is located at Kolkata.

First National Inland Waterway was
between Haldia and Allahabad.

Select the correct answer using the code
given below.

(@)
(b)
(c)
()

1 and 2 only
2 and. 3

2 and 4 only
1, 2 and 4

SDC-S-SND/1A
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31. If the latitude and longitudinal extent
of an Indian State/UT is 15°48°00"' N
to' 14°53’15'' N and 74°20'13""E to
74°40°’33" E, then which one of the
following is that State/UT?

(@)
(b)
(c)
(d)

Puducherry
Chandigarh
Goa

Delhi

32. Match List-I with List-II and select the
correct answer using the code given
below the Lists :

List-I List-I
(Railway Zone) (Headquarters)
A. North Eastern Railway 1. Kolkata
B. East Central Railway 2. Bilaspur
C. South East Central 3. Hajipur
Railway
D. Saouth Eastern 4. Gorakhpur
Railway
Code :
{a) A B C D
4 2 3 1
(b) A B C D
1 3 2 4
{c) A B C D
1 2 5 4
(d)
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33. Which of the following statements
concerning atmosphere of the Earth are
correct?

1. In stratosphere, temperature
increases with altitude.

2: In mesosphere, temperature
decreases with altitude.

3. The lowest temperature of the
atmosphere is recorded in the
upper part of mesosphere.

4. Tropopause is an isothermal zone.

Select the correct answer using the code
given below.

{a) 1 and 2 only
(b) 1, 2 and 3 only
(c) 3 and 4 only
(d 1,2, 3 and 4

34. Match List-I with List-II and select the
correct answer using the code given
below the Lists :

List-I List-IT
(Place) (Industry)
A. Bongaigaon 1. Paper
B. Koraput 2. Machine tools
C. Pinjore 3. Aircraft
D. Sirpur 4. Petrochemical
Code
(@) A B (& D
4 2 3 1
(b) A B ¢ D
4 3 2 1
(c) A B C D
1 2 3 4
(d A B C D
1 3 2 4

SDC-S-SND/1A
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35. Which one of the following is not a
tributary of the river Ganga?

(@)
(b)
(c)
(d)

Son
Mahananda
Teesta

Sharada

36. Which one of the following pairs of lakes
is connected by Soo Canal?

(@)
(b)
(c)
(d)

Superior and Michigan
Superior and Huron
Huron and Ontario

Huron and Erie

37. In total internal reflection, the light
travels from '

(@)

(b)

(c)

()

38. The

rarer to denser medium and it
occurs with no loss of intensity

denser to rarer medium and it
occurs with no loss of intensity

rarer to denser medium and it
occurs with loss of intensity

denser to rarer medium and it
occurs with loss of intensity

energy of a photon, whose

momentum is 10 MeV/c, where c is the
speed of light, is' given by

(@)
(b)
(c)
()

10 MeV
100 MeV
1 MeV

01 MeV
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39. Liquids and gases never show
(a) diamagnetic property
(b) paramagnetic property
(c) ferromagnetic property

(d) electromagnetic property

40. Light travels in a straight line (rectilinear
propagation of light). This statement
does hold if the medium of travel for
light is

(a) of variable refractive index

(b) made up of slabs of different
refractive indices

{c) homogeneous and transparent

(d) inhomogeneous and transparent

41. Match List-I with List-II and select the
correct answer using the code given
below the Lists :

List-I List-IT
(Strait) (Water Body)

A. Strait of Hormuz 1. Java Sea

B. Strait of 2. Andaman Sea

Bab-el-Mandeb

C. Strait of Malacca 3. Red Sea
D. Strait of Sunda 4, Gulf of Persia
Code :
(a) A B C D
4 2 3 1
(b) A B c D
1 3 2 4
(c) A B C D
1 2 3 4
d A B (3] D
4 3 2 1
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42. Match List-I with List-II and select the
correct answer using the code given
below the Lists :

List-I List-II
(Ocean Current) (Country)
A. Agulhas Current 1. Peru -
B. Humboldt Current 2. South Africa
C. Labrador Current 3. Argentina
D. Falkland Current 4, Canada
Code :

@@ A B C D
3 4

1 2
() A B C D
5 1 &4 .3

@ A B C D
4 3

43. Which one of the following fishing
banks is located off the coast of the
United Kingdom?

(a) Great Fisher Bank
(bp) Grand Banks
{c) Dogger Bank

(d) Reed Bank



39. @1 3R TG H w+ft 42. g1 = g1 | gafaa il o) gt &

(@) m@.—@‘eﬁqwqﬁaﬁg oy 7T e 1 T W T IW A -
(b) ST O AL B B -1 T
(c) <R-TrehIa TOT TE BN B (weTamrE o) - (3w)
(d) Teregd- gt 1 e B A. SR U 1. ¥
B. ET-]_Eilo'E 2. g srfie
40. w9l Hieh Y@ B T 3 (TR H R e i
RO) | q7 FUH YA B, AR YEW F AU C. WSS &R 3. FIEH
TE0] T W D. Wihais YT 4, FATE!
(@) OREd] STqETHTS 1 &l
(b) Tafia sradaiel 3 gl = s AR Ed
(c) Fwll R grasfl @ I
g a4 _ 13- 8
(d) ergurft iR ureaf &
() A°. B C D
41, g1 9 G-I ¥ gAfea A o gl o 2 1 4 3
9 fow T FE w1 wEE W HE IR A :
) A B C D
-1 HE-11 . 3 ' 1 4 2
(TrreHERET) (SreTT)
A. TS SIeHEAH 1. € |9R (d) A B C D
. 2 4 1 3
B. dE-Ud-Al<d JASHSAY 2. 3T8HM "R
C. HATH STASHEHA 3. O 9IR
D. gl TASHERS 4. HRE i @l 43. frafafem § § FH-01 & A&H 9F 38
formren & e W foa 27
ETR
() A B C D ;
> 5 B § (@ e TR &%
) A B C D o6
”1 3 2 4 (b) e
¢ A°. B C D L
1 2 3 4 (c) SR &
@ A B € D
4 3 2 -1 (@) =%
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44. Match List-I with List-II and select the 46. Which one of the following statements is
not correct?

correct answer using the code given
below the Lists :

] . {a) Position of the Sun, Earth and
List-I List-1I Moon in a straight line of 180°
(Power Plany (State) angle is known as syzygy.
A. Satpura 1. Maharashtra
B. Dhuvaran 2. Uttarakhand () Sy?ygy comjunction: causes solar
eclipse.
C. Tanakpur 3. Gujarat _
D. Dabhol 4. Madhya Pradesh (c) Syz.ygy opposton: Calscs) ler
eclipse.
Code : :
(d) Syzygy conjunction occurs at the
(@ A B C D time of perihelion only.
4 3 2 1
(b) A B C D
1 3 2 4 47. Which one of the following is not related
to wind erosion?
(c) A B C D
1 2 3 4 .
{a) Wind gap
(d A B G D
@ 2 3 1 (b) Zeugen
45. Which of the following statements {c) Dreikanter
regarding soil is/are correct?
1. Alluvial soils are rich in nitrogen (d) Demoiselle
content.
2. Black soils are rich in iron and lime
but deficient in nitrogen. 48. Which one of the following is correct?
3. Laterite soils are rich in iron and
aluminium but deficient in nitrogen (a) Guindy National Park is known for
and potassium. tiger reserve,
Select the correct answer using the code
given below. (b) Namdapha National Park is meant
for lion conservation.
(@) 1 and 2 only
(b) 3 only (c) Jaldapara is a biosphere reserve.
2 and 3 onl
(e} 'and 3 ooly (d Rann of Kutch is a Wild Ass

(d 1, 2 and 3

~ SDC-5-SND/1A B 16
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44. -1 9 G- @ gRfoa Afvm ok g & 46. Frrferfiaa § & -1 Tk HUA w9 G 87

= g 7T Fe w1 TER W EE IW gAY
(@) T, gedl 3R = it 180° FIV R T
-1 TER-II weh @ A el i fog
(Tererq @) (=) (FshifSr) srearl 21
A. Hagel 1. WEREY (b) Fa-Fafa forg wasH w-mEm @
B. Y 2. IWETS HI 2|
C. TFE 3.
S (c) F-fagfa forg wivgam =T=-wEm
D. g 4. T YR FT 2| :
= @ IR-Faf fg @@ Faa TR F
@ A B C D T gl 2l
4 3 2 1
(bl A - BB D
1 3 2 4 47, Fefafaa & ¥ FA-w T AdE WA W
@) A B C D weiferd T w7
1 2 3 4
@ A B C D (a) " T
4% 8 8 1
(b) I

45. T % wan  frfafen A H-w/d B
gl 8 /2? (c) G
1. e gard AReeE ¥ 95s Bt 8l
0. e wE de R T ¥ w9 A 3
g ATggsH | € Bl &

3. wege wen wr 3R Yghftem | age 48. Tfafaa § @ FH-1 T 98 37
Bl § UGg e 3R dieREd 4 €N

(@ T (Srgee)

Bt 8 (@) TUE TS Tk, TR feE % forg St
13 fog T o 1 T o T R S
(@) Fae 1 30 2 (b) ! AT T, IR H &0 5 forg R
(b) HaA 3
3] s (c) STEaIRI TF Sfanves o 7l

(d 1,2 R 3 (d) =3 F1 T Tk Sl 747 gy B
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49. Which one of the following statements

concerning the natural vegetation of
India is not correct?

fa) Sal is found in moist deciduous
forests.

(b) Casuarina is largely found along
the coastal region of Tamil Nadu.

{¢) Deodar is a coniferous species
of tree.

{d) Shola forests are found mainly on

the upper reaches of Himalaya.

50. Which one of the following statements

concerning research centres in India is
not correct?

Rajiv Gandhi Centre for
Biotechnology is located at Kolkata.

(@)

(b) Central Arid Zone Research
Institute is located at Jodhpur.

(c) Centre for Social Forestry and
Eco-Rehabilitation is located at
Allahabad.

(d) Institute of Forest Productivity is

located at Ranchi.

—SDC-S-SND/1A

Directions :

The following three (3) items consist of two

statements,

Statement I and Statement II.

Examine these two statements carefully and

select
below.

51.

52.

18 -

the correct answer using the code given

Code :

(a) Both the  statements are
individually true and Statement II
is the correct explanation of
Statement I

(b) Both the statements are

individually true but Statement II
is not the correct explanation of
Statement I

Statement I is true but Statement II
is false

()

Statement I is false but Statement II
is true

(d)

Statement I :

The  Pahi-kashta peasants were
non-resident cultivators cultivating
lands on a contractual basis.

Statement II :

The Pahi-kashta peasants worked
under the temptation of favourable
terms of revenue or the compulsion of
economic distress.

Statement I :

The Zamindars were an exploitative
class in Mughal India.

Statement II :

The Zamindars often received the
support of the peasantry in a large
number of agrarian uprisings in North
India in the seventeenth century,




49, Frefafed weEl ¥ A FH-T TH ARG R
T SEal & HoY # U6l G of

(@) WS 3ATE IaFS 94§ U7 ST g

(b) T rfermier: afeTg % e 8 %
FY-91Y YT A4 g

(c) TFER, WFHH SMfd 1 T Ug 7
(d) e 9 geud: fearem & Sult {=H g
ST 21
50. frfeiflad #oFl & ¥ HN-w1 @ 9@ F

IEYU Feal b TaY § TR AE 27

(@ TehE e Sa Denfeh (amERes)
Feg i | fm )

(b) FEF T &F ITEUH T SR A
o 31

(c) THEIRER aifehl iR waferu-gHata &=
TaRERE § R R

(d) o IRl Ge T § fRa R

SDC-S-SND/1A
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Frefafaa €= (3) weiwt # 9w B, w1 3R
9 1. 37 SH1 ST 1 ArETigEes gieor R R
= g 71w e @1 FE W EH W g

E &

(@) THI FoH AT ¥ 8, IR w11,
FUH 1 1 He! TR 8

(b) <N FoM YA ™ B, FRg w1,
YA 1 o Hel WEH T8 2

(c) 19 B, fhg S 11 o }

(d) Fa]IEA R, g PR I TE R

51. &Y I :

‘qTé-FRa’ feE sTfeEh feem 9, S 3%
(Fferen) & emem W siE Sad )

SYq II :

‘qrf-srvd’ TROHl A PR TS T 6
A § A1 e Gehe o foewmar ¥ wm
iERI

52. dYII1:
TIEHIC W # SHIER Th 2o = o |
%Y 11 ¢

Hedl Taeel § ST R § HER! @ TR
W< wem T P wedt R ReaE e
guefa i)

[P.T. O.
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53. Statement I :

King Ashoka abolished capital
punishment and disbanded his army.

Statement II :

After Kalinga War, Ashoka was
remorseful and became a Buddhist.

54. Which one of the following does not
signify a battle tank?

(@) T-55
(b) T-155
€ T-72
(d) T-90

55. Which of the following Gods are also
known as Lokapalas or the Guardians of
the Universe?

(a) Yama, Indra, Varuna and Kubera
(b) Indra, Varuna, Skanda and Kubera
(c) Indra, Varuna, Yama and Brahma

(d) Yama, Shiva, Kubera and Indra

56. Which among the following Acts
were repealed by Article 395 of the
Constitution of India?

1. The Government of India Act, 1935
2. The Indian Independence Act, 1947

3. The Abolition of Privy Council
Jurisdiction Act, 1949

4. The Government of India Act, 1919

Select the correct answer using the code
given below.

fa) 1 and 2 only
(b) 1 and 3 only
() 1, 2 and 3 only
(@ 1,2, 3 and 4

DO . [ Py

57. On 26th November, 1949, which of the
following provisions of the Constitution
of India came into effect?

1. Citizenship
2. Elections
3. Provisional Parliament

4. Fundamental Rights

Select the correct answer using the code
given below.

{a) 2, 3 and 4
(b) 1,2 and 3
(¢) 1 and 3 only

(d) 1 and 2 only

58. Which of the following statements
regarding the Constituent Assembly of
India is/are correct?

1. The Assembly was elected
indirectly by the members of the
Provincial Legislative Assemblies.

2. The elections were held on the
basis of Universal Adult Franchise.

3. The scheme of election was laid
down by the Cabinet Delegation.

4. The distribution of seats was done
on the basis of the Mountbatten
Plan.

Select the correct answer using the code
given below.

(@) 1 only
(b) 1, 2 and 3
(c) 2 and 4

(d) 1 and 3 only



53. HYI:

54

U TS 3 Yegeve ki AW H e R
Tt T R o R T

B LI

HAT Ig F U SEF qAE B g
1 T

. Prafafgs 4 @ FF-w @ g8 F H AEL
ENIRI
(@) T-55
(b) 'T-155
(€ T-72
(d T-90

55. 31 WEFl § ¥ fFeR dredma @1 sEvs (f94)

56.

F WeF F w9 § ot S S 27
(@) T, 58, T 3R FN
(b) I3, TN, Tha 3R e
(c) IR, TE0I, TN AR Rl
(d) =, i, por TR =

Frafafas § A o ofufeml & wma &
dfaum % ofg=ae 395 % ERI Fww foRa
T oY

1. ¥R R afyfem, 1935

2.  WIdE Taman AfufEm, 1947

3. ffy =R fefter o stfufaem,
1949

4, WRd gehR fufEm, 1919

Hr fow T g2 A W EE S g
(@) FFA 1 3R 2

(b) FaA 1 3R 3

(c) e 1, 2 3R 3

(d 1,2, 334

SDC-S-SND/1A

21

57. 26 TR,

1949 o WRd & URAYR F
frafafed § & #9-8 JEyW @] e’

1. HTiERdn
Tafm

2

3. oreuT Hee

4. is AR

= R T g2 w1 WA W TE IR AT
(@ 2,334

(b) 1, 2 3R 3

(c) Faa 1 3R 3

(d) Faa 1 iR 2

58. W4 < dfaum g1 % =R A Fr=afafea 4 @

FH-E1/T HUA UL R/R?

1. wida faum |wstl & ges g A9es
Y W g1 1 =9 ToRI1 TR 91|

2. GENHE AR TANYER F ER W
<1a fohe g 9|

3. A i whm o faion S i
ERRERIRIEIRIT

4., R o1 iRl HIEIE ASHT % STUR
¢ feran T o)

= fow T e 1 WA R wE IR R
(@ A 1

(b) 1,233

(c) 2 3R 4

(d) Fad 1 3R 3

[P.T.O.



59. Which one of the following statements is
not correct?

(@)

(b)

(c)

(@

Centre for Science and Environment
in a recent study found that a
number of commonly available
brands of prepackaged breads
tested positive for potassium
bromate and potassium iodate.

Food Safety and  Standards
Authority of India recommended
to the Health Ministry to remove
potassium bromate from the list of
permissible food additives.

The Union Government banned the
use of potassium bromate as a food
additive on the basis of the above
recommendation.

Potassium bromate is a neurotoxin.

60. Which of the following voted for Brexit
in June 20167

(@)

(b)

(c)

(@)

~ SDC-S-SND/1A

England and Scotland

England and Wales

Scotland and Northern Ireland

Wales and Northern Ireland

22

61. Which one of the following statements
about reusable space vehicle of ISRO is
not correct?

(@)

(b)

(c)

(d)

In June 2016, ISRO successfully
launched India’s first reusable
space vehicle.

The space vehicle was launched
from Satish Dhawan Space Centre
at Sriharikota in Andhra Pradesh.

The reusable launch vehicle
climbed to a height of 65 km before
automatically steering back for
landing.

The vehicle was initially boosted by
a rocket that contained liquid fuel.

62. Which one of the following statements is
not correct?

(@)

(b)

(c)

(@)

BrahMos is a supersonic cruise
missile made by India and Russian
Federation.

The name BrahMos came from two
rivers, Brahmaputra of India and
Moskva of Russia.

Indian military scientists were
capable of integrating BrahMos
cruise missile with Sukhoi-30
MKI fighter.

Defence Research and
Development Organization is the
manufacturer of Sukhoi-30 MKI
fighter.



59, ffafaa sl # ¥ FH-91 T 96l T8l 87

(@)

(b)

()

(d)

g i wafaw %= g1 v @ 8 fhy
M U eI W g8 IR R B T Y-
d 3 (W) F AR | I FD
Hel =1 st o DeRem s i) TefiEm
aTERe o fog witsfes o |

TRATA W G T e WO A
e @@ disesl 6 gEt 3§ aRfiem
S 1 T <l HEgl T e o
Al

I HEfd % SMUR W FR WK A
g ANE % w9 4 URREm Fe %
IWT ] Wisterg foman|

qrfirs e T dieTR (REeiRE)
gl

60. S 2016 ¥ fr=fafaa & & fra-fra 7 fafere
(Brexit) % o1 ae fran?

(@)

(b)

(c)

oie 3 Whices

e 3R ST

WhTde 3N I IS

(d) I IR IW ATCS
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61. 3E (ISRO) % GH:WNY 2iaRe a6 & aR A
Frferfaa & & FH-91 T HoF TE TET 27

(@)

(b)

(c)

(d)

SO 2016 H, WA % YUYW GHHEA
afy a4 H ISRO A HEEAYH
@i T

g Al 91ed o1y uew & i &
udlel ged Ay ws | A= TR
T o

AT B WEIAd F9 W AIH T=CH
A UgA AT g 98 65 km i
SATE % dgd T A1

e ARAE €9 ¥ W 36 9 Uehe
TR AT ST TR o)

62. T=fdafigd § @ -9 T FoF Tl T 7

(@)

(b)

(c)

FEE, WRd R & "9 (WelyW) W
ffifa w Teats = s 8

S| M, 3 AREl, Wi H g 3R
&4 ! HiEhdl & A9 R @1 T 2 |

T & S seie %o Ea @l
FER-30 THo o 3o J&h h WY
o ferd A Tar 9

(d) FEE-30 THo FHo Ao F&eh ol Tl

871 IgHIH R ferer ETed 2

TR0,



63. Which one of the following sources tells 65. Match List-I with List-II and select the

us about women protesting against

the infidelity of their husbands or the below the Lists :

neglect of the wife and children by the

male head of the household? List-I
(Historian)

A. Sumit Sarkar

(a) The Kitab-ul-Hind

(b) Documents belonging to the Village B. Shahid Amin

Panchayats of Rajasthan, Gujarat
and Maharashtra

C. Ranajit Guha

(c) Sculptures from Mandor

D. Bipan Chandra

(d) The Ain-i-Akbari of Abul Fazl

Code :
64. The All India Census was () 2
1. first attempted in 1872 (b) A
3
2. regularly undertaken since 1881
(c) A
3. always undertaken as a five-year 1
exercise
d A
1

Select the correct answer using the code
given below.

(a) 1 only

MW M AW

s o

A0 0 NO

N O

correct answer using the code given

List-IT
(Book)

The Rise and Growth
of Economic
Nationalism in India

A Rule of Property
for Bengal

The Swadeshi
Movement in Bengal,
1903-1908

Event, Metaphor,
Memory—Chauri
Chaura, 1922-1992

wg =oO =UJ

w o

66. What form of Shiva is most prominent

in the Brihadeshvara Temple built by
the Chola dynasty?

(b) 2 and 3 only

(@)
(¢ 1 and 2 only (v)
(c)
(d 1,2 and 3 (d)

SDC-S-SND/1A i

Harihara

Bhairava

Rudra

Tripurantaka



63. frfaflag # ¥ #=-@ ¥4, 9w gl h 65. TE-1 1 ge-11 & gafera Hifsg 3R g &

qfd % foreg 1 9o TeEa % = H= fw e e w1 vEm o I ghT
3l ueht it Ve & foeg Aftenedt & oy &
TR T 27 — -
(zfeTEesR) (Teae)
(@) TFamE-3d-fe< A ghd @R 1. 7 Uss U8 MY %
SR AVHICTSH 37 3fear
(b) TSRYM, oA 3R HEWIE ) 7iia = B. TER iR 2. qmmmﬁmm
Y gl awdes C: '{U]Eﬁa'ﬂg q. Ewé?ﬁq\aﬁzg:rs}m'ﬁ,
1903-1908
R e D. fum =g 4. &=, HewR, IIR—aR!
. P TR1, 1922-1992
(d) TR BT Bl SATE-T-37He] %e
@ A B C D
3 % 4 .7
64. AfGA YR SHTUHI () A~ B C D
5 B & I
1. 1872 § Ugel 91 I T
2. 1881 ¥ Frrfim wu & 1 <A B =L g 2 P
3. Ugadi AT % ®9 3 g Al S
d A B C D
1. & @ 3
R fow T 2 1 W F A TR gAY
e 66. = ToEw 3R fAffa geem wfR # @ W=
“ 1 FH-H1 &9 qaifees fafie g7
(b) Fa 2 3 3 (a) TR
(b) F&
(c) Fa 1 R 2
(c) ¥=
(d 1,2 %3R3 (@ Py
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67. The basic structure doctrine with regard
to the Constitution of India relates to

L.
2.

the power of judicial review

the judgment in Kesavananda
Bharati case (1973)

the constraints on Article 368 of
the Constitution of India

the judgment in  Golaknath

case (1967)

Select the correct answer using the code
given below. '

(@)
(b)
fc)
(d)

1, 2 and 3 only
1, 2, 3 and 4
1 and 3 only

2 and 4 only

68. Which of the following fundamental
rights as enshrined in the Constitution
of India belong only to the citizens?

1

4.

Article 19 (Protection of right to
freedom of speech)

Article 21 (Protection of life and
personal liberty)

Article 15 (Prohibition of discri-
mination)

Article 16 (Equality of opportunity)

Select the correct answer using the code
given below.

(@)
(b)
(c)
(@)

1, 2 and 3
2, 3 and 4
1, 3 and 4

1 and 4 only

__SDC-S-SND/1A ilapiinic st
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69. A citizen of India will lose his or her
citizenship if he or she

i

2,

3.

4,

renounces Indian citizenship

voluntarily acquires the citizenship
of another country

marries a citizen of another country

criticizes the Government

Select the correct answer using the code
given below.

(@)

(b)

(c)

(d)

1, 2 and 3

2, 3 and 4

1 and 2 only

1 and 4

70. Which one of the following statements
is not correct with respect to protection
of individuals being tried for offences?

(@)

()

(c)

(d)

A confession can never be used as
evidence against the accused.

The accused must have violated an
existing law.

An accused cannot be tried and
punished for the same offence
again.

The quantum of punishment must
be provided in law as it existed
on the date of commission of an
offence.



67. WRA % GlEEH & oy F ey @ A

g ot
1. 1T gEwreh i ik
2. FIEFR YR A (1973) # folg

3. WRd % WAy % IA=] 368 W
SRS
4, e 7S (1967) B Frofa

i T e g2 1 W W EE W R
(@) Fae 1, 2 AR 3

(b) 1,2, 334

(c) e 1 3R 3

(d) Faa 2 3R 4

68. WRd & uaww # ufemifya fF=fafas 4 @

FH-G Hfw ARHR Fad AR W

Geftra 87

1. =% 19 (ITh WA & ARHR 6
TRET)

2. 3fg=a% 21 (S 3R efesw T
Hi&on)

3. 3geaq 15 (T % gfmy)

4, =R 16 (T8 ! g

H fow g e @1 TEN W EwE W M)
(@ 1,2 %3R3
(b) 2, 3 IR 4
€ 1,334
(d) Fad 1 AR 4
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69. WG T HIE AN YA ARRGAT @l &,

afe a8 R
1. R TRl o1 qRean Sl @

2. W1 4 Trdl = dw Fi ariieeal 9w
EXGIR

3. et = 3w & i ¥ foams = §

4. YR I ATA=AT HET 8

9 fw 7T 2 w1 W R w9 IR gl
(@ 1,2 3R 3
(b) 2, 3 IR 4
(c) HaA 1 3 2

(d) 134

70. Awd] & fou foemo fre -1 ® kgl #

e % guy § frefaied § @ $9-9
U & G a7

(@) SATY-THRT B AE & fawg wed
% w9 q w1 oft T & T s Eehan)

(b) fgE A TRl HSE wEE W oIEH
3IgEA o BN
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foremor =€t foran ST Hepan IR g 7€ €
Sik:Exl

(d) G AET HEE A e € | AR

T WY B % fERR W o H
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71. Neil O’Brien, who died recently, was a 74. Who among tfle following won the Men'’s

famous

(a) journalist

(b) Dbilliards player
{c) dramatist

{d) quiz master

72. Consider the following statement :

“If you feel you are trapped in a black
hole, don’t give up. There is a way out.”

Singles Title in the Australian Open
Tennis Tournament, 20167

(a) Jamie Murray

(p) Bruno Soares

(c) Novak Djokovic

(d) Andy Murray

75. Which of the following statements about

Who among the following made the
above statement?

{a) Albert Einstein
(b) Stephen Hawking
(c) C. V. Raman
(d) Abdus Salam
73. Recently the Government of India cleared
the proposal for the production of

18 indigenous ‘Dhanush’ artillery guns
to be produced in India by

(a) Indian Army
(b) US Army
(c) Indian Ordnance Factory Board

(d) Indian and US Army jointly

___SDC-S-SND/1A i - 71

the philosopher Shankara is/are true?

1. Shankara espoused a form of
Vedanta called Advaita.

2. He elaborated on the philosophy
of Gaudapada.

3. Shankara tried to demonstrate that
the Upanishads and Brahmasutras
contain a unified, = systematic
philosophy.

4. Shankara founded the Amanaya
Mathas. '

Select the correct answer using the code
given below,

(¢} 1 and 2 only

(b) 1, 2 and 3

(c) 3 and 4

(d) 4 only



71, F@ AT, TR A A AR TG B R, @ 74, AR AT 2w THE, 2016 F 79 ThH
7w _ 7 e 8 @ e fen 27

(@) TARR A ) SR

(b) Tafeas & faest 9

3 : (b) TN ERE

(o] qTZehehl{

(d) AR HTE 3 (c) e Sihifer®
(d) TE T

72. Tafafad s w fomm Fifvw

“gfy sueRl @@ T A Rl s B § HE

T A, R T AR g w2 75. Freffaa § A B-T/A For TR TR F

SPIt e o & feen R on? fov & wed B /27
(@) ¥ A EakcbERETI
(b) TEHA TR 2. U ¥ <3 i IER sarEm R
3. TR A 98 YU A 6 v T TR
(c) Hlo oflo TH ; maﬁ{wﬁ@ Eh ,
294 A<fdE B |
Sl 4, YE A AHHYE W TAGAT 6|
73. T € § 9 G@R 3 18 R ‘ugw’ dm i fow e w2 w1 W R Eh S gh)
dgehi o ITEH % T T H SIgATa 4 2
TR IeUTe A | Tepeh g1 Toham smam ? (@ a1 3o
(@) SRR S
(b) 1,233
(b) Fo THo T
(c) 334

(c) YRAE Y Haedt T

(d) SR 3R Fo THo VT FH HIH F9 A (d) Fad 4
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76. Which of the following statements about
the Deccan Riots of 1875 is/are true?
1. The Deccan Riots resulted in

protection for peasants through
the Deccan Agriculturalists Relief
Act of 1879.

2. The riots did not spread to the
whole of Maharashtra because of
prompt suppression by the British.

3. The British were unable to contain
the riots and they spread
throughout Maharashtra.

4. The cotton boom in the Deccan
that had been caused by the
artificial demand generated by the
American Civil War caused the
impoverishment of the peasants.

Select the correct answer using the code
given below.

(@) 1 only

(b) 1 and 3

(c) 2 and 4 only

(d 1, 2 and 4

77. Why are the Gypsies regarded as of
Indian origin?
1. They follow Indian religious
practices.
2. Their language, called Romani, is
an Indo-Aryan language.

3. They believe that they came from
India.

4, Epigraphic evidence locates their

original home in Uttar Pradesh.
Select the correct answer using the code
given below.

(a) 1 and 4 only

(b) 2 only
fc) 1,2 and 4
(d) 2 and 3

—SDC-S=SND1A—— — 30—

78. The term Upari refers to which one of the
following?

fa) A category of proprietary tenure
under the Mughal rule

(b) A category of tenancy tenure under
the Maratha rule

fc) A soldier in the Maratha army
(d) A village headman in the Mughal
period
79. The ‘water frame’ of Richard A.rkwright
was a device for
(a) producing a new type of painting
(b) irrigating fields for rice cultivation
{c) producing strong threads of yarn
(d) the faster movement of steamships
80. The ‘four great needs’ of the people as

identified by the Guomindang were

(@) clothing, food, housing and

transportation

(b) education, food, housihg and
health care

{c) food, housing, education and
employment

(d) employment, housing, education
and health care



76. Frefafiad § ¥ S9-91/4 $2F 1875 & & &

4 % fowg # v B /87

1. <& % M 6 IRUMHEEY <@ FUE
Ted wifafrm, 1879 % Wemm | Fram
EaRS IR

2. IS % AR AT F FRI T QR
TERTE H e Wt

3. 3 & Bl U H oamd ¥ R
TErRE J < % M)

4, <@A H w9 A wew gfg, s oemien A
TegE, ¥ I HE =T % FRO FE of), A
Forar =1 et R e

9 fow T g2 1 TERT W HE IR gAY

(@) Had 1

() 13R3

(c) Had 2 3R 4

(d 1,23m4

77. S0 (fefl) =1 aRdm 7@ w1 ®&owwEn

Sl
1. 9 9RdW g FEms &1 9eF :Kd 8

0. TR wW, W (WA FEA B, TH
A - 27 T R

3. 37 uE Tagmm ® f6 9 WR@ @ &G
FUEI

4, QU iEd IR HfE Te W T
F worfig 1 £

= T T g2 1 TERT W FE IR G
(a) Fad 13 4

(b) IS 2

c) 1, 23R4

(d) 233
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78. ‘IUR’ 3o F=feRad # @ fre wh & @99 A

??

(@ T WEA F fE @it R Al
T Al |

(b) BB WA & LA FHahi) RN
T Aol

(c) WS HIN § T afh

(d) T T T T w5 giaE

79. = arehtEe 1 ‘o1 B0 fFa w & fog w

afte 7

(@) TH T4 THR F Fmewt % fere

(b) =TEA Wt g Wl H FEE * g
(c) T % SR 9T S % e

(d) amq-=rtaa @ i i 3 % T

80. Tl g Fuff@ swar Kt =R sfa

sTaTgeRard  off ?

(@) HIST, AT, T AR IREE
(b) Tam, @M, W 3R W W
(c) @, R, e IR TR

(d) AR, =R, e IR @ @

[P.T.O.



81. Which one of the following was the earlier 85. Which one of the following is the highest

name of Tokyo? altitude zoo in the world?
(a) Osaka fa) Cheyenne Mountain Zoo
(b) Kyoto (b) Pandit G. B. Pant High Altitude Zoo

© s _ (c) Himalayan Zoological Park, Gangtok
c amurai

(d) Padmaja Naidu Himalayan

(d) Edo Zoological Park
82. The epic, Silappadikaram refers to the 86. Which one of the following statements
about the Missile Technology Control
(a) story of Rama Regime is not correct?

(a) The Missile Technology Control
Regime is an informal and

(c) culture of Sri Lankan Buddhists voluntary ~ partnership initially
formed among G-7 countries.

(b) Jaina elements in the storyline

d It of Shakti hi
() culce bt Worshup (b) Members of the Missile Technology

Control Regime prevent the
proliferation of missile and
unmanned aerial vehicle technology
capable of carrying above 500 kg
payload for more than 300 km.

83. Rakshasa type of marriage is
(a) marriage by purchase

(b) marriage by capture (c) China applied to join the Regime

. v s but members did not offer the
(c) marriage by giving dowry

membership.

(d) marriage by seduction (d) No other country outside the
membership follows the Regime
rules.

84. Who among the following was defeated by
Chile to won the Copa America Football
Championship, 20167 87. The first Tejas squadron of Indian Air
Force consists of
fa) Colombia
(a) 20 aircrafts with 4 in reserve

il Lipeniinia (b) 100 aircrafts with 10 in reserve
(c) Ecuador (c) 20 aircrafts with no reserve

(d) Peru : (d) 25 aircrafts with 5 in reserve
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g1. fr=fafled ¥ ¥ +H-w wHh, RN H GAT

W 17
(@) STrETH
(b)
(c) WIS
(@) ®

82. HEThIA HeTHTashH Tohed Teitm 87

(a) T F Far

(b) HUFH H S T

(c) et o Srg] ! FEpid
(d) ifch ITEAT 6l GR-9ghd

83. T&H YR i foame ?

(a) e fman T foeme
(b) wE FATR TR T TaETg

(c) <& S oAt T Toag

(d) TAE TR TR T feame

84, HI I Feaia AEFARM, 2016 Sfat &

o faeft grr Fferfaa 8 & 6 g mn?
(@) HAfeE

(b) SN

(c) TSR

(d =
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85. f=faifigd # & -1 fag +1 3w g’ﬁdl IS

ffearen &7

(@) IT94E Yeq fafsamr

(b) ufed Sfte Ffo da 3= g Tafeamn
(c) Teamem mfo 3am, e

(d) WIS A1Eg fedrer wift Fem

86. F=fdflaa el & @ SH-w1 TH, FEEd

RNt fremor st % fava & w6 T 37

(@) frama dRifR fREw yoreft o
IR R Qs dEed 2,
ARY H G-7 39 & o= =) off )|

(b) Traga dRNfEh o goneh % wew
300 km ¥ 3f¥F % fw 500 kg @
It NH-9R @ WM # wem finsd
3R AFE-Ued aga WRNfEh & TR
AT § 39¢Y B4 I Tk B

(¢ =H 3 3@ wnell #§ wite B9 % o
gt foran, Tig wewl 3 S¥ wew
& 2

(d) TER % A HI§ I I YA H
et =1 rem 7 = R

87. WG AGHAT 1 UEa Ao TG (I) Torad

et &1 77

(@ 20 foH 3R Wy & 4 iz fomm

(b) 100 fmm siw @ & 10 fowd R
(c) 20 fomm K @y & w1 Ao fomm 78
(d) 25 oM IR @ § 5 Fed fomm

[P.T.O.



88. The headquarters of ‘Economic and
Social Commission for Asia and the
Pacific’ is located at
(a) Singapore
(b) Manila
(c) Bangkok
(d) Hong Kong

89. Which of the following with regard to the
term ‘bank run’ is correct?

(a) The net balance of money a bank
has in its chest at the end of the
day’s business

(b) The ratio of bank’s total deposits
and total liabilities

(c) A panic situation when the deposit
holders start withdrawing cash
from the banks

(d) The period in which a bank creates
highest credit in the market

90. Which of the following will be the
outcome if an economy is under the
inflationary pressure?

1. Domestic currency heads for
depreciation.

2. Exports become less competitive
with imports getting costlier.

3. Cost of borrowing decreases.
4. Bondholders get benefitted.

Select the correct answer using the code
given below.

(@ 1 and 2

(b) 2 and 3

(¢) 1 and 3 only
(d) 1,3 and 4
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91. According to the  Classical Theory of
Employment, deviations from the state
of full employment are

(a) purely temporary in nature,

(b) permanent in nature

()

imaginary situations

(d) normal situations

92. Capital deepening refers to

(@)

(b)

(c)
(d)

going for more fixed capital per
worker

emphasis on social overhead
capital

constant capital-output ratio

increasing capital-output ratio

93. Which one of the following statements is
not correct with respect to Article 32 of
the Constitution of India?

(@)

(b)

(@)

It provides remedies to citizens for
the enforcement of fundamental
rights.

It is a part of fundamental rights.

The Supreme Court cannot refuse a
writ petition under Article 32 on the
ground of delay.

Protection under Article 32 also
applies to the enforcement of
ordinary law which has nothing to
do with the fundamental rights.



88. ‘THAING Te UWE HHNH B TR TS 3 91. TSR & Fearaehl fogid & ogar, T ISFR

Yffther’ 1 AT el e B7 = e | foree™ fore TR % Ba 87
2, T (@) TR g w @ s
(b) FHYEM
() i (b) WeHfd H Tt
(d) W F (c) HTeaeh e
89. ‘9% W W= & ¥y § Fr=fafaa # ¥ w=-m (d) WHI= e
&l 77
(@ R & F =@y wuw N W R §% 02. 50 TR o SRyRaa R &7
# o i & o= it g I iy i
(b) Toreh & % a1 w1 3R o S B (@) i HER At Frad gsi g
(b) IS S g W =S e
(c) TF wieg 6 fufa 5@ W gne ot 4
ECREETEICIRIT NI (© for s
(d) ¥ afy TEH $E 9% dR 7 3= }
Hfee T« (d) < Tl YsiI-3Icq1e 37U

90. AR TH e FHREHH THE F Fw 2, 03. Frefifed wl § A Fe-w W@ F

 Freaforfaa & & - afom & fau™ & =% 32 % Ty ¥ ud) 7 ®7
1. ©e] g1 1 EHeEH 2|
2. G T gH % ey Fafa 1 wfeed (a) T8 ATt N IRl & yadd &
Bl 1T 3uT9 YoM T B
3. 3YR T il ARG U ST it
4, i< T A= Bhl by & T T B
FR R T 2 F wE W Ed IR gR (c) ¥g=8a 32 % Ed, =0 F AER W
JE AEeE el fe o @
(@ 132 TR Td F T
(b) 23R 3
(d) SI=DT 32 T eI, WHURYl FFI
(c) Faw 1 3R 3 AL B W o B %, R e
(@ 1,334 el | FE g9y 7d 2
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94, Which one of the following writs is issued 97. Which one of the following statements

by the Supreme Court to secure the is not true of the Protection of Women
freedom of a person upon unlawful from Domestic Violence Act, 2005?
arrest?

() This Act provides civil remedies
to protect a woman subjected to

a) Habeas Corpus
(a) P domestic violence.

(b) Mandamus (b) Only women can make a complaint

& under this legislation.
’ ; .
(© CRERRE (c) Relief may be sought only against

({d) Quo Warranto the husband or a male live-in
partner with whom the woman has

lived in a domestic relationship.
95. According to the provisions of the (d)

Constitution of India, which one of the
following is not a fundamental duty?

The Act includes not just wives
but also women in marriage-like
relationships.

(7" T mespest the: National, Hlag 98. Which one of the following statements

(b) To defend the country is not correct?
(a) Creation of National Investment
(c) To provide education to one’s child and Infrastructure Fund (NIIF)

was announced in the Union

(d) To promote village and cottage Budget, 5015-16.

industries
(b) NIIF is a fund for enhancing
infrastructure facility in the
96. Under Article 352 of the Constitution country.
of India, an emergency can be declared (c) NIIF and NIF (National Investment
if security of any part of India is Fund) are the names of the same
threatened by organization.
1. war (d) NIIF can have more than one
2. external aggression alternative investment fund,

3. armed rebellion 99. Which one of the following is not correct

4. internal disturbance in respect of Andaman and Nicobar

Select the correct answer using the code Command?

given below. (a) 1t is the first integrated theatre
(@ 1,2 and 3 command in India.

(b) Its headquarters is at Port Blair.

(b) 2, 3 and 4 (c) It is commanded by a three-star

(c) 1,3 and 4 _officer.

{(d) It was set up by the British during
(d) 1 and 2 only the Second World War.
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94, frefafad § ¥ SH-w & emeyw, T =afe

H T-FHEA TG W T T TH W, I
Tl GHE A 6 I I = §]
ST foe T 27

() =& yeaefieo (Bfeam Hidy)
(b) T ()

(c) emm (|fEamify)

(d) wHuFER-T=T (FI W)

95. YRd % HAUM & YEgHl & Igar fmfafaa

H W HH-T T HTah Hod TG 87
(@) TBEAS 1 T FEAT

(b) B N WfeRET FTT

(c) U ==l I e yem wE
(d) T T PER FE H1 AcHTE o

96. YA & HEYH % Ig=ea 352 H i,

TRl <hl HI90M hl ST Hehd] &, Afe 9RA
% Topelt st <Y e B A @

1. I5¥

2. facsft eAmemor 9

3. W 9Ed 9

4, Al Uz 9@

R few T %z @ wEE W AE I gy
(@ 1,233

(b) 2, 3 3 4

) 1, 33 4

(d) Faa 1 3R 2
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97. TfaRad FuAi § § HA-T TH, W fGo @

Afgen e ¥ifEm, 2005 % fosa § ¥

T 77

(@) T fefam i fear =1 R 53 R
Higen 1 G Yo F * fog denfes
3IUE} 1 YEY Al B

(b) T H * Idld hael Afeard € wE
T 2 o= Hepelt B

(c) wa@ Ufd Al W1 w® W YEy @efi,
s we Afgen & giienis w9y @ €,
% To%g & Trga | ST wehdl B

(d) W' AffEm Faa ufed H @ T
afde e, dfew faar-S geadl 8
& areht afgand off sae ataia omdt 21

98. Fr=fifad weEl # 9 S-w1 & 6 7 27

(@ TEA fom wd arunfes ww= H
(NIIF) & §oW h! =mom 6 swie,
2015-16 & Y 7i§)

(b) NIIF T UG ¥ 7, ST <97 H e
o= glaenen ) sen % fae R)

(c) NIF 3R NIF (g fam +m) w &
I3 & M B

(d) NIF ® T&% ¥ 214 Jefeus fem i
B Hehd B

99, F=fafan # @ =F-91 &, fegdm 3R FeER

FUM % GeY A TE TE 87
(@) T A 6 Tgelt THIFa FHE FIH B |
(b) FHH GEATTH I sl | 7|

(c) T& Tk dH-THarn Ifeihd AR gR
fafia g g1

(d) FEht T SN ER fide faw gg %
AR 1 7T oft|
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100. Who is the Chairman of the Chiefs of 103. Which one of the following is not one of
Staff Committee? the Commands of the Indian Army?

(@) The Chief of Army Staff (a) South Western Command

(b) The Chief of Naval Staff (b) North Eastern Command

(c) The Chief of Air Staff (c) Central Command
(d) The member who has been the

longest on the Committee (d) Army Training Command (ARTRAC)

101. Jammu and Kashmir Rifles is 104. Which one of the following statements
is correct?

(a) an infantry regiment of the Indian
Army : fa) The rank of Second Lieutenant has
been abolished. ‘

(b) a battalion of the Rashtriya Rifles : ;
(b) The Chief of Army Staff carries the
(c) the name of the Armed Police of the rank of Field Marshal.

State of Jammu and Kashmir

(c) All officers posted to Andaman and
(d) a paramilitary force under the Nicobar Islands wear the ranks of
Ministry of Home Affairs the Indian Navy.

(d) The rank of Major General is higher
102. Which one of the following is correct? than the rank of Lieutenant
General.
(a) Infantry Regiment is also known as
the Mechanized Infantry Regiment.

105. Which one of the following is not an

{b) Corps of Electrical and Mechanical Air Defence Missile system?

Engineers is subsumed in the
Engi :
Corps of Engineers (@) Akash
(c) Army Medical Corps and Army
Dental Corps are two divisions of
the Army Service Corps.

(b) Trishul
(c) Tatra

(d) Army has its own Corps of Air
Defence. (d) Astra
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100. R Wl % Tg@] %1 AT HH 87

(@) FTEAT W% 1 TIE@
(b) T W6 1 TG

(c) TTEE W% FH T5E

(d) 98 "ew, < gifd § e oiftes wmy
LERE

101. 57 3R YR Ughed 1 87

(@) WA T 6 TF Yeat T Wie
(b) TEW TgHeH H T A (erferam)

(c) S 3R FYHR USH & TE gierd ol
am

(d) TR THATeE % e Tk Al &

102. F=fafad 3§ @ $9-91 s 9 27

(@) 5@ B e w1 =it Yea o e
F 4M A of) ST S R

(b) aga 3R wifer fimgared & #R H
e SR § wfdfaq e mn )

(c) ¥ e #=R R ¥ < ¥R, &=
{1 R % < fediem B

(d) T 1 319 el 9y gRe R R

SDC-S-SND/ 1A

103. F=fafad 4 @ ®9-ur s 9™ 891 % A

A { T FAF A 37
(a) <f&or-ufsrdt sume
(b) FR-TT FH
(c) 5 FAH

(d) 8= IR FAF (ARTRAC)

104, Fmfafad # § $9-W & FoF v 27

(@) ¥bhe AR & T & §OW H
™ R T

(b) ﬁmmmug@,tﬁ?smfa‘cﬁavﬁ
1 Bl B

(c) ¥R AR Feer dwegg W Y
eft it wreia Ao i gedt fag
T 2

(d) TS SIS 1 98, Affede R & 98§
SR B R

105. ffafiad # & wF- ww, 9r] gfoen e

JuTTelt e 87
(@) 3

(b) T
(c) A

(d) 3=

PRI, @,



109. Who

. Which one of the following statements is
correct with respect to the composition
of national income in India?

(a) The share of manufacturing sector
has declined.

(b) The share of services sector has
increased sharply.

(c) The share of agriculture has
remained static.

(d) The share of services sector has
declined.

107. In India, the term ‘hot money’ is used to

refer to

a) Currency + Reserves with the RBI
(b) Net GDR

(c) Net Foreign Direct Investment

(d) Foreign Portfolio Investment

108. Which of the following is/are credit rating

agency/agencies in India?

(@) CRISIL
(b) CARE
() ICRA

(d) All of the above

among the following is the
Chairman of the Fourteenth Finance
Commission?

fa) C. Rangarajan
{b) Vijay Kelkar
{c) Y. V. Reddy

(d) Rakesh Mohan
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110. The members of NAFTA are,

a) USA, Canada and Mexico
(b) USA, Canada and India
() USA, Canada and Japan
(d) USA, UK and India

111. Which of the following are constitutional

provisions and laws for the protection
of the rights of the Scheduled Castes
in India?

1. Article 17 of the Constitution of

India
2. The Protection of Civil Rights
Act, 1955

3. The Scheduled Castes and the
Scheduled Tribes (Prevention of
Atrocities) Act, 1989

Select the correct answer using the code
given below.

fa) 1 and 3 only
(b) 1 and 2 only
fc) 1,2 and 3

(d) 2 and 3 only

112. Which one of the following is not true

about the powers of the Supreme
Court?

(a) The Supreme Court has original
and exclusive jurisdiction in inter-
governmental disputes.

(b) The Supreme Court has advisory
jurisdiction on a question of law or
fact which may be referred to it by
the President of India.

() The Supreme Court has the power
to review its own judgment or
order.

(d) The Supreme Court has the
exclusive power to issue writs to
protect the fundamental rights of
the people.



106. ¥RA § UEH 9 & gued & gy § Ffafag
T ¥ FH-91 T FI & 27

() Frtor e 3 siw F e g8 2
(b) W & % W H A IhE g 2
I(c} H 1 3T R o1 o7 B
(d) Fa1 &= % 7% § wH @ R

107. YR H ‘IoEmdl 54 (e ) wea foruss da
H Wy foher sman 27

(@) TR + ARo sfo Ao # ARfE FfY
(b) % Sfio o Ao
(c) & foaasft vy fam
(d) Tacsht déwifern fem
108. “Ra # hfee frafor v/ wiftmt Frafafaa #
| -4 7 /77
(@) CRISIL
(b) CARE
(c) ICRA

(d) 3I9gh aft

109. TH § &M dKeed faw R % seaw §7
(@) Ho TRSH
(b) fost et
(c) 5o o T
(d) T HIEA
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110. THo To Tho o To & T &

(@) Fo THo To, FHTel 3R Afreh!
(b) Fo THo To, FATST 3TN A

(c) Yo THo To, FATST AR SUH
(d) Yo THo To, Fo o 3R WA

111. ¥R # Aggfaa st & IRl ft wen &

foau fr=fafan & @ $9-9 93wl gEum
R I 87

1. ¥R % HEuH %1 g 17

2, e Afer qran srfufem, 1955

3. rggfea sfoal R eggfa sHsiaat
(3rear=m framo) sAfdfem, 1989

= T g e = W@ W wd W g
(@) Faa 1 3R 3
(b) Hae 1 3R 2
© 1,233
(d) Fad 2 R 3

112. 309 FEeE 6 ufea & o § fefatag

T § -G Th Ged &1 27

(a) aiEhE foaml § I = 9w
IR I ATRERR Tl & |

(b) ST A FFEH & Y 3yar T
T R, S 9RA % Tpfd gR g fifde
e T B, TeTERR SAfremTRE W@ § |

(c) = I stuw sl folg o smew
W gATGER A <6t w1fh @ §)

(d) 9@ & T@ AR B wn F fag
A I wA hl I we I=En
T % IE 2
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113. The Sixth Schedule of the Constitution of
India pertains to the administration of
tribal areas in which of the following

States?

(a) Assam, Meghalaya, Tripura and
Mizoram

(b) Meghalaya, Tripura, Manipur and
Mizoram

{c) Assam, Manipur, Meghalaya and
Tripura

{d) Manipur, Meghalaya, Tripura and

Arunachal Pradesh

114. Which one of the following statements
with regard to the Ninth Schedule of
the Constitution of India is not correct?

(@)

(b)

(c)

(d)

It was inserted by the Constitution
(First Amendment) Act, 1951.

The Acts and Regulations specified
in the Ninth Schedule shall become
void on the ground that it violates a
fundamental right in Part III of the
Constitution.

The Supreme Court has the power
of judicial review of an Act included
in the Ninth Schedule on the
doctrine of basic structure.

The appropriate Legislature can
repeal or amend an Act specified in
the Ninth Schedule.

—SDC-S-SND/1A

115. Consider the following statements about
Harappan cities :

1. Roads were not always absolutely
straight and did not always cross
one another at right angles.

2. A striking feature is the uniformity
in the average size of the bricks for
houses and for city walls.

Which of the statements given above
is/are correct? '

(a) 1 only

(b) 2 only

fc) Both 1 and 2
(d) Neither 1 nor 2

116. Match List-I with List-II and select the
correct answer using the code given
below the Lists :

List-1 List-II
(Term) (Meaning)
A. Kurinchi 1. Pastoral region
B. Palai 2. Seashore
C. Neytal 3. Arid region
D. Mullai 4, Mountainous region
Code :
(a) A B C D
1 2 3 4
(b) A B C D
1 3 2 4
(c) A B C D
4 3 2 1
(d A B C D
4 2 3 |




113. ¥Rd & dfaud 6l o s Frefafea § 8
5 TSl B ST & % uIed | ey
@t 27

() ¥Em, Ferer, fgu v s

(b) FETEE, By, AR I st

(c) 3T, AT, Femer AR fgu

(d) AT, Herer, Brgu ofR v Wi

114. 9Rd & €AW H A STgEE k weEH A
fefefad 4 @ H-91 T o b 78 27

(@) | GREum (Yom gmed)  erfufem,
1951 & meaw © withferd foram mm o)

(b) T g A fARRE w8 etfutEm W
fafiem 39 snuR R s @ smon B
I3 GEUH & 9T 11 % TRET Wi
AfIHR 1 I T 2 |

(c) Furl W= < Regia WAl gy A
wite et erfufem % =R gbem
61 Witk =9 =T % 9 2

(@) & ageEh § faffde e afufem =
IgE faurmed e o1 d@vifta R
ol B
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115. W1 & U & "y A fyafafga FaE =
ﬁﬂ'l’(ﬁﬁﬂl:

L.

wgh Toen g e | el 7 St off
M TH-g H FHI GERI WAL
Hred! off |
T AWYRO famwar 78 2 6 e R
T i dER Al $2) wr 3Ed AR
THEHHE 2|

Iy oA § A A/ w2

(@) Ha 1
(b) HIA 2
c) 13 2 BH!
(d T 1INAE 2
116. -1 1 G=N-11 ¥ gafea fifsg i gt &
= 3w 7T 2 1 T@E W EE IW gAY
a1 -1
(s1=1) (31ef)
A. 3 1. =T &
B. U3 2. HYFde
C. =ard 3. b &
D. ggi 4. wdd &
e ¢
@@ A B C D
1 2 38 4
() A°A B C D
1 8 2 4
0 A B C D
4 8 2 1
@ A B C D
4 2 8° 1

[P.T.O.



117. Which of the following statements with
regard to the conduct of elections in
India is/are not correct?

i

The responsibility for the prepara-
tion of the electoral rolls is vested
in the Election Commission of
India.

The Model Code of Conduct comes
into existence as soon as the date
of the election is announced.

The laws relating to delimitation of
constituencies are made by the
Election Commission of India.

No election shall be called in
question except by an election
petition.

Select the correct answer using the code
given below.

(@)
(b)
(c)
()

3 only
1, 2 and 4
1, 2 and 3

4 only

118. Which one of the following statements
with regard to the National Commission
for Scheduled Tribes is not correct?

(@)

(b)

(c)

(d)

The Union and every State
Government shall consult the
Commission on all major policy
matters affecting Scheduled Tribes.

All the reports of the Commission
and its recommendations shall be
laid only before Lok Sabha.

The Commission, while investiga-
ting any matter, has all the powers
of a Civil Court.

The Commission has the power to
regulate its own procedures.
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119. The

right to form associations and

unions is a right

(@)

(b)

(d)

guaranteed to everybody

to freedom guaranteed to citizens
only

to equality before law

to life and personal liberty

120. Some Indian territory was transferred in
2015 to Bangladesh by following which
procedure?

(@)

(b)

(c)

(@)

By an agreement between the
Government of India and the
Government of Bangladesh

By a legislation passed by the
Parliament amending Schedule 1 to
the Constitution of India

By amending Schedule 1 to the
Constitution of India by exercising
amending power of the Parliament

By amending Schedule 1 to the
Constitution of India by exercising
amending power of the Parliament
and ratification by sixteen State
Legislatures



117. ¥Rd A FeEieAl & guen & g9y # frafafaa

FoET § § BH-91/3 wh T8 227

1. WdeTdl gieEl h TR FA H IWE
wrd % Fratem e § fifsd 7

2. e TR gfear, g H fafy @
ST BN % W1 g e § o Sl B |

3. Tt &= &% dm-fofor 8 wefm
FT ARG % TaleH A™EE gR S
STd B

4. hael YAE AIEEl F A H BIEH
fopeht fafem w w7 & 3emn <0 W)

= fow e e 1 TR R EE IW g

(@) FaA 3

(b) 1,2 3R 4

fc) 1,2 M3

(d) Fad 4

118. T=fafan wemt # | ®F-91 U6 TR gERa

ST SR 3% Hey |l TE o

(@) FERG SHSTREl R wfod R A
wft v fifra Ae ® WY T Tl
TS HEHR TR § 9Ome] o |

(b) Em F wft fad iR soh fawrfa
e S W & auel Tl S

(c) Tt 7me 6 JE-TsdE WA 9
fafom #1° & 9t wRkpal AW & 9™
B B

(@) sroft st wfsenent = fafafia @ &
wifts TR % T B R
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119. TEW 3R €Y 91 & ARGR HH THR H

e 27

(a) T =AH & ToTC TR iR

(b) FaA AR ® foaw TRRE @@ @
TR

(c) T o HE THF H1 TR

(@) R ¥R e R R

120. 99 2015 # TS WRAT M SIS ol

waEia o mn owan @w R ol w
FTIET Tk ToRa TR

(@) 9RG TR R TARY TWFER F o=
TH TG BRI

(b) ¥RG % Wiaum 6 STgEet 1 F FEH
T g FEE B ITRA W& Taum g

(c) THE W HEEFEHR WRE F TN wQ
T OYRG & WU B oSgEE 1 %
LHIBE A

(d) EER = HEAHER] Th T T FE §U
A % "EUE Sl AgEE 1 % g
Td Hiag T foureed & orgemeN
CATY

[P.T.O.
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W % S9! g GO gREeR Wied &1 7 gl WY a9 @6 7 @i

#.&.4. : SDC-S-SND giteror gierent STgehA

HH &l

I rfvgon yfeT A

W [

w7 e quTie : 100

10

#HIFIA

. THET WTOW B % g WTE, A9 39 alieror it Y ugate srEva o o fb ged g famn v, wer W gz

T3 B el Wi o} ¥ w1 ARt er ¥, A 3@ wet wiawr gReee @ 99 o)

Fa1 ea @ 5 OMR Iw-uwes #, 3R M |, @ T7v iR wdtewr giee sgwn A, B, C a1 D =,

TR O Te T Rl g o i & 9@ o feag w0 R Redierdt seftgar & 21 Rl oft wer 6

e /Rt & feafa # sw-uees fem s R smom)

. 59 wlem g W WY # feu MY AimEw A OSUE ST STfEHIE
fora 2| whgo gfem w iR o T fad)

. 39 e gfRem 120 v (99 R # ) v gee R oin ot Mt o R) wos we H SR e
(Fw) Ry T ¥ T A TF TW B G o, B A0 Iw-we | iR e wee §) Al e te o R o @
At Tege el ¥, A IW Wegwh N 3ifERa S AR T T | Wedeh SRR o oI hae T d Wege g g |

. SR T ot Yo erem ¥ Ry e Iw-m WO sifea e €)1 sw-Tew A Ry e fEw )

. AW ST R ST w2

. 390 TES 6 et whemr giGem % R Wil % SegeR SW-TAE W iR T S H, AR TSN AH0-9 %
A el ¥ ogER F@ fae IW-TE F W E

. 3 Tt Vgl SOR-TE A 9 % I a9l wha  HAE R hae IW-uAh eierE A 3| el T
Y e gk & SR R SIE B

. w= wm % T v g gfemm & o A wom €

. e I % foe gue
TegE ww-wE # sefgar gr R e Tew s o forg gve R s

(i) worF T ¥ T = e S 8| Iefiear 3y e % T g e s e 3w % fore we vy e e
T 37 1 Ueh-Toerd °ve % 9§ @ S|
(i) R #§ nfrear ©F @ wfeE I A R, W@ To I FA e, FUf R g ewd A § ok SW g g,
R +ft 38 w1 % T SwggEn @ 3 @' @ gve e S|
(iii):gsgﬂ;‘zanma?rimwwﬁﬁww%, ot Sefieam g0 3w @ fomn s ®, 36y % foe wE que
ST

Wa q% o Ug ghgur YRR @iem w7 wEl WY a9 a6 7 @

Note : English version of the instructions is printed on the front cover of this Booklet.



